Three Dimensional Geometry - Class XlI

Past Year JEE Questions

Questions

Quetion: 01

The distance of the point (1, 3, - 7) from the plane passing through the point (1, -1, - 1),
having normal perpendicular to both the lines

x—=1_ y+2 z—4
T = =2 3
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X—2_ y+l_ z+/.
— ====1

A. <55
B. <3
C. o
D. 7

Solutions

Solution: 01

Explanation
Let the plane be

ax—"1)+by+1)+c(z+1)=0

Normal vector

N = o~
|
[\S)
W
I
W
~>
+
I
+
o8
=D

Soplaneis5(x—-1)+7(y+1)+3(z+1)=0
= 5x+7y+3z+5=0

Distance of point (1, 3, — 7) from the plane is
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